Name:

Missing Double Digits Multiplicands

Score:

-156

75

=270

228

-494

-592

-182

-216

253

Find the missing multiplicands

() x-12 =-324
31 x () = 124
([ )x 3 = 60
18 x () =-306
() x 15 =-165
50 x () =-150
() x 50 =-600
22 x () = 110
() x-26 =-260
48 x () =-144

copyright: www.mathinenglish.com

-19x®= 76

-126

35

-625

-80

-80

94

-550

-570



12 x = -156
X -5 75
10 x -270
x -12 = 228
19 x -494
x -37 =-592
14 x -182
x -18 =-216
23 x 253
x -18 = 630

Find the missing multiplicands

Answers

x-12 = -324

-31

18

-50

124

60

-306

-165

-150

-600

110

-260

-144

19 x (4) = 76
-32) x -7 =224
18 x (-7) =-126
35)x -1 = 35

25 x = -625

(10) x -8 = -80
40 x (-2) = -80
(2) x 47 = 9%
50 x [11) =-550

x -19 =-570



